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34° 0.5592 0.8290 0.6745

35° 0,5736 0.8192 0.7002
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@ sin45° = cos45° = tan 45°
® sin90° = cos90° = tan 90°
@ sin90° = cos 0° = tan 45°

B sin0° = cos 90° = tan 90°



16. o= & &~

© ® © 0 O

o A2?
1
tand5 = tan45°
sin? 30° + cos?60° = %
c0s30° + cos60° = cos90°
sin45° = cos45° X tan4b °
sin230° 4+ cos230° =1



o] cos60° ¥ W, A= a O] B

5

_gq

g
4

5

oA A 3x2 + ax -

17.

shelat.

?‘



18.

oS Id Zo] A5
12cm ¢ ¥ O oA PT &=

1, /BPT =60° & o, PB ©
?

N Ny
o2
Mr o

@ 6cm @ 8cm
® 6V2cm @ 6+V3cm

® 10cm




FolA AB 2] Zo]

?

L)
=

7}

FA}
=

@ 2

B3 V3

@ 2

D 1



20. /C=90° ¢l AZAZ+Y ABC oA /B=60°,BC=6 ¥ 0, AH <

dol=?




21. oh 2FeIA x4y 9 e ot
ofet.




22. o 2T O] 3x-2y+1 =09 = y
o} x %] oFe] Weko] o] F& 7e] 2712

a 2 otzt o] W, tana ] 3t FSHH?

3 2
©-5  @-  O-

@2 3 / 9




Q1 o] Lkt 9k ), 1 Ae]7k BC ot

@ tanx ® tany

® cosy

@ cosx

@ sinx



24. sin0° xtan0° — cos0° 9] ZF2 A, sin 90° x cos 90° + tan 0° 9] &t
Bt g o, B- A 9] ka9

D -2 2 -1 ® 0 @ 1 B 2



BC € 9, tanA &

% ABC o tisiA] AB = g

4 2pzt

/B =90° ¢l

25.

sholat

2

N



)
ol
N
o2l
12
rlo

]

fo

@ sin45°

® cos60°

Em
N

© cos45°

@ tan60°

© sin0°

e, @00 00,0 ®0,6 60,0



27. /(1-sinA)2- \/(sinA-1)2 9] 27 (&, 0° <A <90°)

@ 2sinA @ 2sinA +2 @0

@ —2sinA B) —2sinA -2



28. 717+ ABC °)4 AB = Scm _4/3em-
BC = 4v3cm ¥ 0, /B o] 27|=9 - <

O 15° @ 30° @ 45°
@ 60° ® 75°




2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826
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14°
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